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Section A

Directions: In this section, you will hear 8 short conversations and 2 long conversations.

At the end of each conversation , one or more questions will be asked about what was said.

Both the conversation and the questions will be spoken only once. A fter each question there

will be a pause. During the pause, you must read the four choices marked A), B), C)
and D), and decide which is the best answer. Then mark the corresponding letter on An-

swer Sheet 2 with a single line through the centre.

T

12.

15

14,

158

16.

17.

18.

A) He does not like tea.

C) He does not like the concert.
A) Buy a new alarm.

C) Have enough sleep.

A) Buy something for the picnic.
C) Go shopping with the man.
A) Jill has recovered.

©) Jill is a weak girl.

A) A neighbor.

C) A professional hairstylist.
A) A play.

C) A movie.

A) The woman should not blame herself.

B) The woman did not ruin the surprise.

C) The woman should deal with it.
D) The woman should work hard.
A) The woman has waited three hours.

C) The woman is out of job.

B) He agrees with the woman.
D) He wants to have a drink.

B) Turn the alarm off.

D) Put the alarm out of reach.
B) Go for a ride around town.
D) Have a picnic.

B) Jill resists practicing.

D) Jill should have a rest.

B) A friend.

D) The woman herself.

B) A lecture.

D) A speech.

B) The woman is worried.

D) The woman has no patience to wait.

Questions 19 to 22 are based on the conversation you have just heard.

193

20.

A) Customer and salesperson.
C) Employer and employee.
A) She does a great job.

B) She has financial problem.
C) She is working too hard.

6

°

B) Passenger and conductor.
D) Landlord and tenant.



D) She has to shoulder too much pressure.

21. A) Positive. B) Indifferent. C) Negative. D) Partly approved.
22. A) 25% B) 8% C) 18% D) 15%
Questions 23 to 25 are based on the conversation you have just heard.
23. A) $8 B) $18 © $80 D) $10
24. A) Workplace conflicts. B) Law-making.
C) Workplace accidents. D) Life insurance.

25. A) The charge is unreasonable.
B) The lack of money-back guarantee.
C) He does not get a satisfactory service.

D) He does not get an interview.

SeCtion B
Directions: In this section, you will hear 3 short passages. At the end of each passage,
you will hear some questions. Both the passage and the questions will be spoken only once.
A fter you hear a question, youmust choose the best answer from the four choices marked
A), B), C) and D). Thenmark the corresponding letter on Answer Sheet 2 with a single

line through the centre.

Passage One
Questions 26 to 28 are based on the passage you have just heard.
26. A) Forgiveness and communication. B) Faith and courage.
C) Same habits and good temper. D) Loyalty and tolerance.
27. A) More than 4 years. B) Less than 4 years.
C) More than 5 years. D) Less than 5 years.

28. A) Expectations in the early stage of marriage exert great effects on satisfaction.
B) People tend to select like-minded partners.
C) People should find the highest quality partner available.
D) The study researched 82 couples in total.

Passage Two
Questions 29 to 31 are based on the passage you have just heard.
29. A) People out of work reduce contact with others.
B) People out of work lose their identity as a worker.
C) People out of work become less ambitious.
D) People out of work can not keep in harmony with their family.
30. A) Jobless is really a depressing situation.

B) Unemployment can be regarded as a new start.




1k

C) Jobless is a temporary thing.

D) Finding a job is a piece of cake.
31. A) Lack of sleep. B) Getting impatient,
C) Lack of confidence. D) Depression and isolation.

Passage Three
Questions 32 to 35 are based on the passage you have just heard.
32. A) 12% B) 6% 0 7% D) 8%
33. A) They have different personalities. B) They have different life styles.
C) The reason is not clearly identified. D) No person has paid attention to it.
34. A) Headaches. B) Digestive disorder.
C) Chronic pain. D) Having a temperature.
35. A) Men believe that going to mental health clinic do harm to their lives.
B) Men treat mental illness in a more positive way.
C) Families and friends don’t show respect to the mentally-suffered men.

D) Men with mental problems will be excluded of promotion.

Section C—+ & o e (00 0

Directions: In this section, you will hear a passage three times. When the passage is read
for the first time, you should listen carefully for its general idea. When the passage is
read for the second time, you are required to fill in the blanks numbered from 36 to 43
with the exact words you have just heard. For blanks numbered from 44 to 46 you are re-
quired to fill in the missing information. For these blanks, you can either use the exact
words you have just heard or write down the main points in your own words. Finally,

when the passage is read for the third time, you should check what you have written.

No young man starting life could have better capital than plenty of friends. They
will strengthen his 36 , support him in every great 37  and make him what,
unaided, he could never be. Friends of the right 38  will help him more—to be
happy and 39 —than much money or great _ 40 . Friendshipisno 41 affair.

There can be no friendship without reciprocity. One cannot receive all and give noth-
ing, and 42 the joy and fullness of true = 43
44 . If you are mean, stingy and selfish, nobody

will admire you. You must cultivate generosity and large-heartedness; you must be

1

magnanimous and tolerant; 45 . You must believe in

yourself. If you do not, others will not believe in you, You must look upward and be

hopeful, cheery, and optimistic. 46

e 8



MODEL TEST 2

Section A
Directions: In this section, you will hear 8 short conversations and 2 long conversations.
At the end of each conversation , one or more questions will be asked about what was said.
Both the conversation and the questions will be spoken only once. A fter each question there
will be a pause. During the pause, you must read the four choices marked A), B), C)
and D) , and decide which is the best answer. Then mark the corresponding letter on An-
swer Sheet 2 with a single line through the centre.

11. A) Buy a new house. B) Find a new house right now.
C) Sold the house. D) Live with another student.
12. A) She is good at giving people advice. B) She is hard-working.
C) She should not continue her job. D) She should not drop out.
13. A) Be patient and wait.
B) Call to check his scores.
C) Inquire when the test scores are released.
D) Take the GRE test again in 8 weeks.
14. A) The man is too busy to help the woman.
B) The woman wants to take a picture of the scene.
C) The man is not sure how to use the camera.
D) The woman loves to take pictures.
15. A) Jack tried to take part in the party.
B) Jack was upset about the party.
C) Jack didn’t come to the party.
D) Jack’s flight was cancelled.

16. A) Be tolerant. B) Show his anger openly.
C) Conceal his true feelings. D) Not complain openly.
17. A) Customs officer. B) Doctor.
C) Professor. D) Waitress.

18. A) She can break the dinner appointment.
B) She is sick and needs a good rest.
C) She has to join in the appointment.
D) She can eat at home.



Questions 19 to 22 are based on the conversation you have just heard.

19. A) The Holiday Inn. B) The Home Inn.
C) A friend’s home. D) The Holiday Hotel.
20. A) By bus. B) To take a taxi.  C) By subway. D) By car.
21. A) 8 hours. B) 7 hours. C) 9 hours. D) 10 hours.
22. A) It is windy but sunny. B) Most of the time it is warm.
©) It is cold and wet. D) It is hot and humid.
Questions 23 to 25 are based on the conversation you have just heard.
23. A) He has to go to school. B) He has to play tennis.
C) He has to leave for New York. D) He has to prepare his wedding.

24, A) Learning tennis by taking lessons.
B) Having dinner together.
() Taking part in the wedding together.
D) Going to a coffee shop and having a chat together.

25. A) Professor and student. B) Classmates.
() Fiance and fiancée. D) Colleagues.

Directions: In this sections you will hear 3 short passages. At the end of each passage,
you will hear some questions. Both the passage and the questions will be spoken only once.
A fter you hear a question, youmust choose the best answer from the four choices marked
A), B), C) and D). Thenmark the corresponding letter on Answer Sheet 2 with a single

line through the centre.

Passage One
Questions 26 to 28 are based on the passage you have just heard.
26. A) Science and Technology. B) Life and Health.
C) Entertainment. D) Finance and Business.

27. A) People who exercises no more than half an hour.
B) Soldiers at high altitude.
C) People do not exercise and sweat.
D) Patients in hospital.
28. A) People usually confused about how much water they really need.
B) “8-a-day” is a right choice for everyone.
C) The World Health Organization recommends that everyone drinks at least four
cups a day.

D) People’s requirement of water is basically the same.
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